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No. : 5 1A IS T A
o BT A (B TE?TH) Cs-134 Cs-137 =t

1 E8=Riil - 9/28 TR HI(<2.7) | REH3.6) | R H(<6.3)
2 =Rl — 9/28 T (<2.7) | T HK2.8) | AR HKL.5
3 EX=Nil - 9,28 T (<2.3) | AEHEK2.8) | R HE5.1)
4 (LI T — 9/28 (2.7 | REHES3.3) | T H(<6.0)
5 (L1 [ T — 9/28 FREH2.1) | FRHE2.1) | AHH4.2)
6 L1 F BT - 9/28 M HI(<2.0) | ARERHI(<2.5) | R H(<4.5)
7 s T - 9/28 R (<2.3) | RBRHE2.7) | R H5.0)
8 = R AT = 9/28 RRH(C2.4) | FHHIK2.8) | RH(5.2)
9 E=g = 9/28 AREH(<2.3) | RRRHEK2.7) | 4 H(<5.0)
10 | HH 2 AT - 9/28 FRHELTY | AR HE2.8) | A H(<4.5)
11 i B T = 9/256 | REEM(<2.3) | THRHEK2.4) | RHRH(4.T)
12 i T m7 = 9/27 T (<2.9) | AR (2.6) | R H(<5.5)
13 £ BF HT = 9/27 THH(C1.8) | REEH K2 | A HK4.5)
14 25 /| A — 9/27 ABHEE3.3) | ABEHK2.8) | g H(<6.1)
15 57 [ — 9/27 AR (<2.5) | AMHEK2.1) | FHH(<4.6)
16 B A = 9,25 AR H(€2.3) | MBI | RERH(<5.4)
17 =AW — 9/27 RBEHEL.9) | AHEHEK2.2) | F#H(<4.1)
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